# Division (International) with a Helper Grid Name:

Solve each problem. Answers
1) 954 : 8 = 2) 747 : 5 =
1.
2.
3.
4,
5.
6.
3 366 : 8 = 4 645 : 5 =
5 699 : 8 = 6) 230 : 5 =
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 954 : 8 =119r2 2 747 : 5 =149r2
1. 119r2
-'8 -5
15 2 4
2. 149r2
-8 -2 0
7 4 47 5 1516
-72 - 4|5
2 2 4. 129
5. 87r3
6. 46
3) 366 : 8 =045r6 4d 645 : 5 =129
_0 -
36 4
.32 -1/0
46 45
-14/0 -4/5
6 0
59 699 : 8 =087r3 6) 230: 5 =046
-0 -0
69 23
-6 4 -2 0
59 30
-15'6 -3 0
3 0
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